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Note. The above is an example of integration by breaking up the integra
into frabtions. [ see Chapter V. |
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Note. Students acquainted with hyperbolic functions muy work out the
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this is shown in Trigonometry*
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This form differs from the result given above by a constan. [(f
Remarks in Art. 1.3 1. In the resuli, —loga being a constant may be

dropped. since it may be supposed to be includec in the constant of
integration.

* See Das & Mukherjee’s Higher Trigonometry, Art 12.9,




In many text-books, for th
arc used in preference to the logs
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